South East Asian J. of Mathematics and Mathematical Sciences Vol. 17, No. 2 (2021), pp. 265-276

ISSN (Online): 2582-0850

ISSN (Print): 0972-7752

# THE COMPLETE PRODUCT OF TWO FUZZY GRAPHS AND ITS RELATIONSHIP WITH FUZZY GRAPH ISOMORPHISM

Ch. Chaitanya and T. V. Pradeep Kumar\*

Department of Mathematics, Institute of Aeronautical Engineering, Hyderabad, Telangana, INDIA

E-mail : chaitanya123maths@gmail.com

\*Department of Mathematics, Acharya Nagarjuna University, Guntur, A.P., INDIA

E-mail : pradeeptv5@gmail.com

(Received: Mar. 05, 2020 Accepted: Jun. 16, 2021 Published: Aug. 30, 2021)

Abstract: Fuzzy graph was introduced by Kaufmann [7] in 1973. In this paper, we introduced the concept of the complete product of two fuzzy graphs with an Illustrative example. We proved the result that If  $G : (\sigma, \mu) = (U, E_U)$ ,  $H : (\tau, \vartheta) = (V, E_V)$ ,  $G' : (\sigma', \mu') = (U', E_{U'})$  and  $H' : (\tau', \vartheta') = (V', E_{V'})$  are any four fuzzy graphs such that  $G : (\sigma, \mu) \cong G' : (\sigma', \mu')$  and  $H : (\tau, \vartheta) \cong H' : (\tau', \vartheta')$  under the fuzzy graph isomorphisms f and h respectively, then  $G \times_P H \cong G' \times_P H'$ . As the proof is too long, we have demonstrated the result in two by parting into two hypotheses.

**Keywords and Phrases:** Fuzzy relation, Fuzzy graph, Uniform vertex fuzzy graph, Fuzzy graph isomorphism, The complete product of two fuzzy graphs.

## 2020 Mathematics Subject Classification: 05C70, 05C72.

### 1. Introduction

The concept of a Graph is introduced for the first time by Leonhard Euler [4] in the year 1736. It is quite well known that graphs are simply models of relations. A graph is a convenient way of representing the information involving relationship

between objects. The objects are represented by vertices and relations by edges. When there is vagueness in the description of the objects or in its relationships or in both, it is natural that we need to design a 'Fuzzy Graph Model'. Application of fuzzy relations are widespread and important in the field of clustering analysis, neural networks, computer networks, pattern recognition, decision making and expert systems. In each of these, the basic mathematical structure is that of a fuzzy graph. We know that a graph is a symmetric binary relation on a nonempty set V. Similarly, a fuzzy graph is a symmetric binary fuzzy relation on a fuzzy subset. The first definition of a fuzzy graph was by Kaufmann [7] in 1973, based on Zadeh's fuzzy relations [13]. But it was Azriel Rosenfeld [9] who considered fuzzy relations on fuzzy sets and developed the theory of fuzzy graphs in 1975. Later on, so many Mathematicians produced various results on Fuzzy Graphs in various aspects.

In this paper, we introduced the concept of the complete product of two fuzzy graphs with an Illustrative example. We proved the result that If  $G : (\sigma, \mu) = (U, E_U), H : (\tau, \vartheta) = (V, E_V), G' : (\sigma', \mu') = (U', E_{U'})$  and  $H' : (\tau', \vartheta') = (V', E_{V'})$  are any four fuzzy graphs such that  $G : (\sigma, \mu) \cong G' : (\sigma', \mu')$  and  $H : (\tau, \vartheta) \cong H' : (\tau', \vartheta')$  under the fuzzy graph isomorphisms f and h respectively, then  $G \times_P H \cong G' \times_P H'$ . As the proof is too long, we have demonstrated the result in two by parting into two hypotheses.

### 2. Preliminaries

In this section we have given the definitions and examples related to the concepts which are discussed in the introduction.

**Definition 2.1.** [5] A graph G is a triplet consisting of a vertex set V(G), an edge set E(G), and a relation that associates two vertices with each edge. The two vertices called its endpoints (not necessarily distinct). Graphically, we represent a graph by drawing a point for each vertex and representing each edge by a curve joining its endpoints.

**Definition 2.2.** [9, 13] Let S be a non-empty set. Let  $\mu : S \times S \rightarrow [0, 1]$  and  $\sigma : S \rightarrow [0, 1]$  be any two fuzzy sets. Then  $\mu$  is said to be a fuzzy relation on  $\sigma$  if  $\mu(x, y) \leq \sigma(x) \cap \sigma(y) \forall x, y \in S$ . Note:  $\sigma(x) \cap \sigma(y) = \min\{\sigma(x), \sigma(y)\}$ .

**Definition 2.3.** [9, 13] (i) A fuzzy relation  $\mu$  on a fuzzy set  $\sigma$  is called symmetric if  $\mu(x, y) = \mu(y, x), \forall x, y \in S$ . (ii) A fuzzy relation  $\mu$  on a fuzzy set  $\sigma$  is called reflexive if  $\mu(x, x) = \sigma(x), \forall x \in S$ .

**Definition 2.4.** [9, 13] A fuzzy graph G is a pair of functions  $G : (\sigma, \mu)$  where  $\sigma$ 

is a fuzzy subset on a non-empty set V and  $\sigma$  is a symmetric fuzzy relation on  $\sigma$ . The underlying crisp graph of  $G : (\sigma, \mu)$  is denoted by G \* (V, E) where  $E \subset V \times V$ .



**Example 2.5.** Here we have given an example for fuzzy graph.

Note 2.7: In any fuzzy graph  $G : (\sigma, \mu)$  on G \* (V, E), we assume that V is finite and  $\mu$  is reflexive on  $\sigma$ . Also, we ignore the loops and parallel edges.

**Definition 2.8.** [3] Let  $G : (\sigma, \mu)$  be a fuzzy graph on G \* (V, E). Let  $\sigma * = \{x \in V/\sigma(x) > 0\}$ . Then G is said to be a Uniform vertex fuzzy graph if  $\sigma(x) = k \forall x \in \sigma *$  where k is some positive real such that  $0 \le k \le 1$ .

**Example 2.9.** Here we have given an example for Uniform vertex fuzzy graph.



## 3. The Complete Product of Two Fuzzy Graphs

**Definition 3.1.** Let  $G : (\sigma, \mu)$  and  $H : (\tau, \vartheta)$  be any two fuzzy graphs with  $G^* : (U, E_U)$  and  $H^* : (V : E_V)$ . Then the Complete product of G and H is defined as a fuzzy graph  $G \times_P H : (\sigma \times_P \tau, \mu \times_P \vartheta) = (U \times V, E)$  where  $E = E_1 \cup E_2 \cup E_3 \cup E_4 \cup E_5 \cup E_6 \cup E_7 \cup E_8$ . Such that  $E_1 = \{((u_1, v_1), (u_2, v_2)) : u_1 = u_2 \text{ and } (v_1, v_2) \notin E_V\}$  and  $E_2 = \{((u_1, v_1), (u_2, v_2)) : u_1 = u_2 \text{ and } (v_1, v_2) \notin E_V\}$  and  $E_3 = \{((u_1, v_1), (u_2, v_2)) : v_1 = v_2 \text{ and } (u_1, u_2) \notin E_U\}$  and  $E_4 = \{((u_1, v_1), (u_2, v_2)) : v_1 = v_2 \text{ and } (u_1, u_2) \notin E_U\}$  and  $E_5 = \{((u_1, v_1), (u_2, v_2)) : (u_1, u_2) \notin E_U \text{ and } (v_1, v_2) \notin E_V\}$  and  $E_6 = \{((u_1, v_1), (u_2, v_2)) : (u_1, u_2) \notin E_U \text{ and } (v_1, v_2) \notin E_V\}$  and  $E_7 = \{((u_1, v_1), (u_2, v_2)) : (u_1, u_2) \notin E_U \text{ and } (v_1, v_2) \notin E_V\}$   $E_8 = \{((u_1, v_1), (u_2, v_2)) : (u_1, u_2) \notin E_U \text{ and } (v_1, v_2) \notin E_V\}$ With  $\sigma \times_P \tau(u, v) = \sigma(u) \wedge \tau(v) \forall (u, v) \in U \times V$  and  $\begin{cases} \sigma(u_1) \wedge \vartheta(v_1, v_2), & \text{if } w \in E_1 \\ \sigma(u_1) \wedge \tau(v_1) \wedge \tau(v_2), & \text{if } w \in E_3 \\ \eta(u_1, u_2) \wedge \tau(v_1), & \text{if } w \in E_3 \\ \eta(u_1, u_2) \wedge \tau(v_1), & \text{if } w \in E_4 \end{cases}$ 

$$(\mu \times_{P} \vartheta)(w) = \begin{cases} \sigma(u_{1}) \wedge \sigma(u_{2}) \wedge \tau(v_{1}), & \text{if } w \in E_{4} \\ \mu(u_{1}, u_{2}) \wedge \tau(v_{1}) \wedge \tau(v_{2}), & \text{if } w \in E_{5} \\ \sigma(u_{1}) \wedge \sigma(u_{2}) \wedge \vartheta(v_{1}, v_{2}), & \text{if } w \in E_{6} \\ \mu(u_{1}, u_{2}) \wedge \vartheta(v_{1}, v_{2}), & \text{if } w \in E_{7} \\ \sigma(u_{1}) \wedge \sigma(u_{2}) \wedge \tau(v_{1}) \wedge \tau(v_{2}), & \text{if } w \in E_{8} \end{cases}$$
where  $w = ((u_{1}, v_{1}), (u_{2}, v_{2})).$ 

Example 3.2. Consider the following two fuzzy graphs



where  $w_1 = (u_1, v_1) = 0.5$ ,  $w_2 = (u_1, v_2) = 0.3$ ,  $w_3 = (u_2, v_1) = 0.5$ ,  $w_4 = (u_2, v_2) = 0.3$ ,  $w_5 = (u_3, v_1) = 0.5$ ,  $w_6 = (u_3, v_2) = 0.3$ .

**Note.** The crisp graph  $(G \times_P H))^*$  of a complete product of two fuzzy graphs G and H is always a complete graph as it contains an edge between every pair of vertices.

Now we are going to prove some important properties of  $G \times_P H$ .



The following diagram represents the complete product of the above two fuzzy graphs G and H.

**Theorem 3.3.** Let  $G : (\sigma, \mu) = (U, E_U)$ ,  $H : (\tau, \vartheta) = (V, E_V)$ ,  $G' : (\sigma'\mu') = (U', E_{U'})$  and  $H' : (\tau'\vartheta') = (V', E_{V'})$  are any four fuzzy graphs such that  $G : (\sigma, \mu) \cong G' : (\sigma', \mu')$  and  $H : (\tau, \vartheta) \cong H' : (\tau', \vartheta')$  under the fuzzy graph isomorphisms f and h respectively. Let  $E = E_1 \cup E_2 \cup E_3 \cup E_4 \cup E_5 \cup E_6 \cup E_7 \cup E_8$  and  $E' = E'_1 \cup E'_2 \cup E'_3 \cup E'_4 \cup E'_3$ 

 $E'_{5} \cup E'_{6} \cup E'_{7} \cup E'_{8}$  be the edge sets of  $G \times_{P} H$  and  $G' \times_{P} H'$  respectively. Then  $w = ((u_{1}, v_{1}), (u_{2}, v_{2})) \in E_{i}$  implies  $w' = ((f(u_{1}), h(v_{1})), (f(u_{2}), h(v_{2}))) \in E'_{i} \forall i = 1, 2, ..., 8.$ 

## Proof.

**Case I.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_1$ . Then  $u_1 = u_2$  and  $(v_1, v_2) \in E_V$ .  $\Rightarrow u_1 = u_2$  and  $\vartheta(v_1, v_2) \neq 0$ .  $\Rightarrow f(u_1) = f(u_2)$  and  $\vartheta'(h(v_1), h(v_2)) \neq 0$ . (since  $\vartheta'(h(v_1), h(v_2)) = \vartheta(v_1, v_2)$ )  $\Rightarrow f(u_1) = f(u_2)$  and  $\vartheta'(h(v_1), h(v_2)) \in E_{V'} \Rightarrow w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_1$ .

**Case II.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_2$ . Then  $u_1 = u_2$  and  $(v_1, v_2) \notin E_V$ .  $\Rightarrow u_1 = u_2$  and  $(v_1, v_2) = 0$ .  $\Rightarrow f(u_1) = f(u_2)$  and  $\vartheta'(h(v_1), h(v_2)) = 0$ . (since  $\vartheta'(h(v_1), h(v_2)) = \vartheta(v_1, v_2)$ )  $\Rightarrow f(u_1) = f(u_2)$  and  $\vartheta'(h(v_1), h(v_2)) \notin E_{V'}$ .  $\Rightarrow w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_2$ .

**Case III.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_3$ . Then  $v_1 = v_2$  and  $(u_1, u_2) \in E_U$ .  $\Rightarrow w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_3$  (The proof is similar to that of case I). **Case IV.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_4$ . Then  $v_1 = v_2$  and  $(u_1, u_2) \notin E_U$ .  $\Rightarrow w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_4$  (The proof is similar to that of case II).

**Case V.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_5$ . Then  $(u_1, u_2) \in E_U$  and  $(v_1, v_2) \notin E_V$ .  $\Rightarrow \mu(u_1, u_2) \neq 0$  and  $\vartheta(v_1, v_2) = 0$ .  $\Rightarrow \mu(u_1, u_2) = \mu'(f(u_1), f(u_2))$  and  $\vartheta'(h(v_1), h(v_2)) = \vartheta(v_1, v_2) = 0$ .  $\Rightarrow (f(u_1), f(u_2)) \in E_{U'}$  and  $(h(v_1), h(v_2)) \notin E_{V'}$ .  $\Rightarrow w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_5$ .

**Case VI.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_6$ . Then  $(u_1, u_2) \notin E_U$  and  $(v_1, v_2) \notin E_V$ . So  $w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_6$  (The proof is similar to that of case V).

**Case VII.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_7$ . Then  $(u_1, u_2) \in E_U$  and  $(v_1, v_2) \in E_V$ .  $\Rightarrow \mu(u_1, u_2) \neq 0$  and  $\vartheta(v_1, v_2) \neq 0$ .  $\Rightarrow \mu'(f(u_1), f(u_2)) \neq 0$  and  $\vartheta'(h(v_1), h(v_2)) \neq 0$ .  $\Rightarrow (f(u_1), f(u_2)) \in E_{U'}$  and  $(h(v_1), h(v_2)) \in E_{V'}$ .  $\Rightarrow w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_7$ .

**Case VIII.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_8$ . Then  $(u_1, u_2) \notin E_U$  and  $(v_1, v_2) \notin E_V$ .  $E_V \Rightarrow \mu(u_1, u_2) = 0$  and  $\vartheta(v_1, v_2) = 0$ .  $\Rightarrow \mu'(f(u_1), f(u_2)) = 0$  and  $\vartheta'(h(v_1), h(v_2)) = 0$  and  $\vartheta'(h(v_1), h(v_2)) = 0$ .  $h(v_1), f(u_2) \neq E_{U'}$  and  $(h(v_1), h(v_2)) \notin E_{V'}$ .  $\Rightarrow w' = ((f(u_1), h(v_2))) \in E'_8$ . Hence the proof.

**Theorem 3.4.** Let  $G : (\sigma, \mu) = (U, E_U)$ ,  $H : (\tau, \vartheta) = (V, E_V)$ ,  $G' : (\sigma'\mu') = (U', E_{U'})$  and  $H' : (\tau'\vartheta') = (V', E_{V'})$  are any four fuzzy graphs such that  $G : (\sigma, \mu) \cong G' : (\sigma', \mu')$  and  $H : (\tau, \vartheta) \cong H' : (\tau', \vartheta')$  under the fuzzy graph isomorphisms f and h respectively.

Let  $E = E_1 \cup E_2 \cup E_3 \cup E_4 \cup E_5 \cup E_6 \cup E_7 \cup E_8$  and  $E' = E'_1 \cup E'_2 \cup E'_3 \cup E'_4 \cup E'_5 \cup E'_6 \cup E'_7 \cup E'_8$  be the edge sets of  $G \times_P H$  and  $G' \times_P H'$  respectively. Then

 $G \times_P H \cong G' \times_P H'.$  **Proof.** Define  $f \times_P h : U \times V \to U' \times V'$  such that  $f \times_P h(u, v) = (f(u), h(v))$ . Now  $f \times_P h(u_1, v_1) = f \times_P h(u_2, v_2) \Leftrightarrow (f(u_1), h(v_1)) = (f(u_2), h(v_2)) \Leftrightarrow f(u_1) = f(u_2)$  and  $h(v_1) = h(v_2) \Leftrightarrow u_1 = u_2$  and  $v_1 = v_2$  (since f and h are one to one mappings). By the above observation it is clear that  $f \times_P h$  is a well-defined and one to one mapping. Now let  $(u', v') \in U' \times V'$ . then as f and h are surjective mappings  $\exists u \in U$  and  $v \in V$  such that f(u) = u' and h(v) = v'. Now  $f \times_P h(u, v) = (f(u), h(v)) = (u', v')$ . Therefore  $f \times_P h$  is surjective. To show that  $(\sigma \times_P \tau)(u, v) = (\sigma' \times_P \tau')(f(u), h(v))$ 

$$(\sigma' \times_P \tau')(f(u), h(v)) = \sigma'(f(u)) \wedge \tau'(h(v)) = \sigma(u) \wedge \tau(v) = (\sigma \times_P \tau)(u, v)$$

(since f, h are isomorphisms)

To show that  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$ 

**Case I.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_1$ . Then

$$(\mu \times_P \vartheta)(w) = \sigma(u_1) \wedge \vartheta(v_1, v_2) \tag{3.1}$$

since  $w \in E_1$ , by Lemma-3, we have

$$w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_1$$
  

$$\Rightarrow (\mu' \times_P \vartheta')(w') = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$$
  

$$= \sigma'(f(u_1)) \wedge \vartheta'(h(v_1), h(v_2))$$
  

$$= \sigma(u_1) \wedge \vartheta(v_1, v_2)$$
  

$$= (\mu \times_P \vartheta)(w). \quad (by using (3.1))$$

Therefore  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$ Case II. Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_2$ . Then

$$(\mu \times_P \vartheta)(w) = \sigma(u_1) \wedge \tau(v_1)\tau(v_2)$$
(3.2)

since  $w \in E_2$ , by Lemma-3, we have

$$w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_2$$
  

$$\Rightarrow (\mu' \times_P \vartheta')(w') = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$$
  

$$= \sigma'(f(u_1)) \wedge \tau'(h(v_1))\tau'(h(v_2))$$
  

$$= \sigma(u_1) \wedge \tau(v_1) \wedge \tau(v_2)$$
  

$$= (\mu \times_P \vartheta)(w). \quad (by using (3.2))$$

Therefore  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$  **Case III.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_3$ . Then

$$(\mu \times_P \vartheta)(w) = \mu(u_1, u_2) \wedge \tau(v_1)$$
(3.3)

since  $w \in E_3$ , by Lemma-3, we have

$$w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_3$$
  

$$\Rightarrow (\mu' \times_P \vartheta')(w') = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$$
  

$$= \mu'(f(u_1), f(u_2)) \wedge \tau'(h(v_1))$$
  

$$= \mu(u_1, u_2) \wedge \tau(v_1)$$
  

$$= (\mu \times_P \vartheta)(w). \quad (by using (3.3))$$

Therefore  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$  **Case IV.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_4$ . Then

$$(\mu \times_P \vartheta)(w) = \sigma(u_1) \wedge \sigma(u_2) \wedge \tau(v_1)$$
(3.4)

since  $w \in E_4$ , by Lemma-3, we have

$$w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_4$$
  

$$\Rightarrow (\mu' \times_P \vartheta')(w') = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$$
  

$$= \sigma'(f(u_1)) \wedge \sigma'(f(u_2)) \wedge \tau'(h(v_1))$$
  

$$= \sigma(u_1) \wedge \sigma(u_2) \wedge \tau(v_1) \quad \text{(since } f \text{ and } h \text{ are isomorphisms)}$$
  

$$= (\mu \times_P \vartheta)(w). \quad \text{(by using } (3.4))$$

Therefore  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$ Case V. Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_5$ . Then

$$(\mu \times_P \vartheta)(w) = \mu(u_1, u_2) \wedge \tau(v_1) \wedge \tau(v_2)$$
(3.5)

since  $w \in E_5$ , by Lemma-3, we have

$$w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_5$$
  

$$\Rightarrow (\mu' \times_P \vartheta')(w') = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$$
  

$$= \mu'(f(u_1), f(u_2)) \wedge \tau'(h(v_1)) \wedge \tau'(h(v_2))$$
  

$$= \mu(u_1, u_2) \wedge \tau(v_1) \wedge \tau(v_2) \quad \text{(since } f \text{ and } h \text{ are isomorphisms})$$
  

$$= (\mu \times_P \vartheta)(w). \quad \text{(by using (3.5))}$$

Therefore  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$ Case VI. Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_6$ . Then

$$(\mu \times_P \vartheta)(w) = \sigma(u_1) \wedge \sigma(u_2) \wedge \vartheta(v_1, v_2)$$
(3.6)

since  $w \in E_6$ , by Lemma-3, we have

$$w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_6$$
  

$$\Rightarrow (\mu' \times_P \vartheta')(w') = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$$
  

$$= \sigma'(f(u_1)) \wedge \sigma'(f(u_2)) \wedge \vartheta'(h(v_1))(h(v_2))$$
  

$$= \sigma(u_1) \wedge \sigma(u_2) \wedge \vartheta(v_1, v_2) \quad \text{(since } f \text{ and } h \text{ are isomorphisms})$$
  

$$= (\mu \times_P \vartheta)(w). \quad \text{(by using (3.6))}$$

Therefore  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$ 

**Case VII.** Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_7$ . Then

$$(\mu \times_P \vartheta)(w) = \mu(u_1, u_2) \land \vartheta(v_1, v_2)$$
(3.7)

since  $w \in E_7$ , by Lemma-3, we have

$$w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_7$$
  

$$\Rightarrow (\mu' \times_P \vartheta')(w') = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$$
  

$$= \mu'(f(u_1), f(u_2)) \wedge \vartheta'(h(v_1))(h(v_2))$$
  

$$= \sigma(u_1, u_2) \wedge \vartheta(v_1, v_2) \quad \text{(since } f \text{ and } h \text{ are isomorphisms})$$
  

$$= (\mu \times_P \vartheta)(w). \quad \text{(by using } (3.7))$$

Therefore  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$ Case VIII. Let  $w = ((u_1, v_1), (u_2, v_2)) \in E_8$ . Then

$$(\mu \times_P \vartheta)(w) = \sigma(u_1)\sigma(u_2) \wedge \tau(v_1) \wedge \tau(v_2)$$
(3.8)

since  $w \in E_8$ , by Lemma-3, we have

$$w' = ((f(u_1), h(v_1)), (f(u_2), h(v_2))) \in E'_8$$
  

$$\Rightarrow (\mu' \times_P \vartheta')(w') = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$$
  

$$= \mu'(f(u_1)) \wedge \sigma'(f(u_2)) \wedge \tau'(h(v_1)) \wedge \tau'(h(v_2))$$
  

$$= \sigma(u_1)\sigma(u_2) \wedge \tau(v_1) \wedge \tau(v_2) \quad \text{(since } f \text{ and } h \text{ are isomorphisms)}$$
  

$$= (\mu \times_P \vartheta)(w). \quad \text{(by using (3.8))}$$

Therefore  $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$ Therefore, in all the above cases we have shown that

 $(\mu \times_P \vartheta)((u_1, v_1), (u_2, v_2)) = (\mu' \times_P \vartheta')((f(u_1), h(v_1)), (f(u_2), h(v_2)))$ 

Hence  $G \times_P H \cong G' \times_P H'$  under the fuzzy graph isomorphism  $f \times_P h$ .

#### Acknowledgment

My sincere thanks to the referees who reviewed my article and the editorial team of South East Asian Journal of Mathematics and Mathematical Sciences (SEAJMMS) for their valuable suggestions and guidance which really helped me to improve the quality of the paper. Also, I extend my heartfelt thanks to my research supervisor for his great encouragement and support.

#### References

- Bhattacharya, P., Some Remarks on Fuzzy Graphs, Pattern Recognition Lett., 6 (1987) 297-302.
- [2] Bhutani, K. R., On Automorphism of fuzzy Graphs, Pattern Recognition Letters, 12 (1991), 413-420.
- [3] Chaitanya Ch., and Pradeep Kumar T. V., A Note on Uniform vertex and Uniform edge fuzzy graphs, International Journal of Innovative Research in Science, Engineering and Technology, Vol. 4, Issue 7, (2015).
- [4] Euler, L., Solutio problematis adgeometriamsitus pertinentis, Comment. Acade miae Sci. I. Petropolitanae, 8 (1736), 128–140.
- [5] Frank Harary, Graph Theory, Narosa /Addison Wesley, Indian Student Edition, (1988).
- [6] John N. Mordeson and Premchand S. Nair, Fuzzy Graphs and Fuzzy Hypergraphs, Physica-verlag, Heidelberg (2000).
- [7] Kauffman A., Introduction a la Theorie des Sous-emsembles Flous, Vol. I, Masson et Cie, (1973).
- [8] Nagoor Gani, A., and Radha, K., On Regular Fuzzy Graphs, Journal of Physical Sciences, Vol. 12 (2008), 33-40.
- [9] Rosenfeld, A., Fuzzy Graphs, In: L. A. Zadeh, K. S. Fu, M.Shimura, Eds., Fuzzy Sets and Their Applications, Academic Press, (1975), 77-95.

- [10] Sunitha, M. S., Studies on Fuzzy Graphs, Thesis submitted to the Cochin University Science and Technology For the award of the degree of DOCTOR OF PHILOSOPHY Under the Faculty of Science, Department of Mathematics, Cochin University of Science and Technology, Cochin, (2001).
- [11] Sunitha, M. S., Complement of a Fuzzy Graph, Indian J. pure appl. Math., 33(9) (2002), 1451-1464.
- [12] Yeh R. T. and Bang S. Y., Fuzzy Relations, Fuzzy Graphs and their Applications to Clustering Analysis, In Fuzzy Sets and their Applications to Cognitive and Decision Processes, Zadeh, L. A., Fu,' K. S., Shimura, M. Eds; Academic Press, New York, (1975), 125-149.
- [13] Zadeh, L. A., Similarity Relations and Fuzzy Ordering, Inform. Sci., 3 (1971), 177-200.